
X =
ZX * 1,25

UPTAB13

MIST > DIFFNein Ja

X =
ZX * 0,75

ENDE

UP5-6

ZZX > 26441Nein Ja

X
ZZX

MST5-6

UP5-6 UP5-6

ZZX > 9550Nein Ja

UP5-6

HOCH = ST +
(ZZX - 9550)

* 0,42

HOCH <
VERGL

Nein Ja

ZZX >
200584

Nein Ja

ST = ST +
(ZZX - 26441)

* 0,42

ST = ST +
(200584 -
26441) * 0,42

ST = ST +
(ZZX - 200584)

* 0,45

ENDE

ZZX
ZX ZX

26441

ST
VERGL

9550
ZX

VERGL
ST

HOCH
ST

Euro

Euro

ST1
ST

UPTAB13

ST2
ST

DIFF =
(ST1 - ST2)

* 2

MIST =
ZX * 0,14

ST
DIFF

ST
MIST

Euro

Lohnsteuer für die Steuerklassen V und VI
(§ 39b Absatz 2 Satz 7 EStG)

Euro
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